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Simplify algebraic expressions by identifying and combining like terms Q3-8 REEERINN

Simplify each expression.

3.;_\_{_+9z—_l_§y—252+4 4.82+x-5-9z2+2 5.5¢-3d-12c+d-6
I G2 (5c=120)4 (-2dad)-6

Py (—162) + Y Y= —FC 4 (-2d) -6
= —17y-16Z + Y o\ = —F¢ . 9d -6

FA3 =8| #18 =1 ~3k(-N=-2

510 = -5

Simplify algebraic expressions by identifying and combining like terms Q3-8 RC-EpLAN

Simplify each expression.

3 i 7 1. 1 9 3 7 1 2 5 .
6.—ZX—§+§X—E l 7.Z+1—0y—gy+§ 8.—Ea+§+ga—ﬁ
XS 1. e R - S a 2\
(\27&!%—?81 _%(-3*12‘( (ng-\-é )+ Sy }o)
— N WP 3 ’ ) : _— 5 \ . , l% —L .\
:——8,"2*82)-?(—?‘?") 2 :--6_-Q+—5—Q -{-\"‘3"“, )
‘ 5 453 3
il ~ ottt —_y -
g 6 = g & +T5
o) 4 2 -2 .3 _5 |w3 __\S_ 2 g . 5
22 YT ATy Ty |xwE T s 3™ 35 L 8, Py




n Use different methods to add linear expressions Ql-3 REEEpLE)

Add.

1. (8x + 9)(+\(-6x - 2)

=@ . g5 20
=(82-61)+(q—2)

= QX +7

2. (5x+4) + (-8x-2)
=bFxal_Rxr_o
= (52 -82) + (4-2) »
— Iy " SN5 o I, \ |

3.(-7x+ 1)+ (4x - 5)
==Fz+\ ~+Y4x_-5
= (Fx+ 4 (1 =5)
= 3x -\

Write one-step equations involving integers and rational numbers and use

inverse operations to solve the equations

Solve each equation. Check your solution.

Ql-4 Page 287

1.6+y=-8 2. 13 =A+t 3.p—-11=-5 4.12=7-8
v -4 A TR

6+ i,

_e =g «if =& @

, v ar 9 .
y=">Lig|,~ bt & 5

7 B = -5~
bx(A\Y) =_3g \ 2 2
_%:18/




n Use GCFs to factor linear expressions Q7-12 RPN

Factor each expression. If the expression cannot be factored, write cannot be factored

7.5x + 35 5- 65X\
/\(4 36=5 X7
= 5(x +7 )

8.8x-14 B=2X2X2
=2 X7
=2(4x -7 ) AV .

9.3x+ 11y 3= 3X{

= W XE

Camod be factored

n Use GCFs to factor linear expressions Q7-12 REEPIE

Factor each expression. If the expression cannot be factored, write cannot be factored

10. 32x - 15 ?52=2;2;;sz1, 11,.72x - 18xy 12. 45xy - 81y
_Cownot be facb(ed. _ 3 (LQ 3> 13 4=5%
\ 3 = QqxQ = A3 X 32
@7’2 F2= L XN\ = 2R2LXZA3X3
kS Vo= A XEB - @@ xE




Write one-step equations involving integers and rational numbers and use
inverse operations to solve the equations

Solve each equation. Check your solution.

5.-7x=56 1 (-7)

Q5-7 Page 287

6.-20=-5b
A _ 56
7 =7

— ~
Vs

"'?(-—8) = +5(3
/

—

Use inverse operations to solve one-step addition and subtraction

inequalities
Solve each inequality. Graph the solution set on a number line.

Ql-6 Page 339

1.x+5<7 2.1>x+6 3.x+82>214
-5 -5 -6 -g ~f 8B
—_—
x L2 —5> % \ 26 6
x< -5 .0
T ] 1 1 | F i lL f !1 } : : I ; } : ll ; : { : t |l % t : I : 'lr ']l Ll
-5—-4-3-2-1 0 1 2 3 4 5 -8-7-6-5-4 -3-2-10 1 2 0 ; 23:15678910
4}0 2 g x5 E xzt —>




Use inverse operations to solve one-step addition and subtraction
H - . o P Q1-6 RCECEEEE
MEGUEITES

Solve each inequality. Graph the solution set on a number line.

\

4.5<x+12 oy o 5.x+5.4<-1.6 6.x+7.5>-2.5
- ‘_5.\'1 _S-l"( -—7‘5 ‘—7\5
2 < — 7 .O N WY 2 > "'"\D I-O
..... X i <4 -—1 o C i . A > —_ \O B
[T VO (R W | £ o e o s I'”"f)';é_l;'l'_f\ (O NI T TR . . L (y——
~10-9 8 —7 —6 5 —4 -3 -2 —1 0 | —10-9 —8 —7 —6 —5 —4 -3 -2 -1 0 | ~13-12—11—10 -8 —8 7 —6 —5 —4 —3
Use inverse opt::ratwns. t.o solye one:s'tep mult.lp.llcatlon and division AR Page 355
inequalities with positive coefficients.
1.3x>12 =3 2.60212x =) 3.-1427x =
60 - 17« -4 32
3 3 52z = 3
x->-4 x < 5.0 L 5
P EL =2
SRR > s 4 |) A —rer—re———— — WY P WS —
-4 -3 -2 -1 0 1 2 3 4 5 6 -4 =3 -2 - 0 1 2 3 4 5 6 -5—4-3-2-1 @ 1 2 3 4 &

AT i L AT ot e Qe Ll e
o\z"j;‘du»»& bl 20 0 e -V SRSt M\t“‘f%y&o\—."\__ﬁ‘;’w’-ﬁu

2B > 225 Q%N




Use inverse operations to solve one-step multiplication and division
7 p. o : e i p Ql-6 REEEEEE
inequalities with positive coefficients.

Solve each inequality. Graph the solution set on a number line.

4.2<0.25x ~ 015 5.1.1x<-4.4 = \\ 6552 X6
6
Wz o« =HMxe
B L L I B v w W
0.25%00 =75 2 £ = WA & ol =2 2 (6)
; W\ &
-3 o | ___x <L —yas x = 12

o0
25
SLIAS>X 28 S o

\\ =
‘—?, —T A ey *ﬁ ;
T T T T T T T T T 1
7 9 10

I | I I I I

=] ~6 =8 -4 -8 =2 -1 0 1 2 3

! e
1 i — | T
0 1 28956 7T 88 9 10

Identify vertical an.d adjace.nt angles and use them to write and solve P Page 401
equations to find unknown angle measures
1. Name the angle in four ways. 2. Name the angle in four ways.
Wd%

L 3 Z

L\_\FG F = C:-I:
I &FH e . v
s L. RApC 5 /\

A , c3p




Identify vertical and adjacent angles and use them to write and solve

equations to find unknown angle measures

Ql1-4 Page 401

3. Refer to the diagram below. ldentify
three pairs of vertical angles. Name all the
angles that are adjacent to 210

47 and Llozve\f’n'oﬂ'

n\m]ﬁ(

/.3 ond L\ | A9

7\
/O
29 and L 12 P

('i." .u‘)

4. ldentify three pairs of vertical angles.
Name all the angles that are adjacent to

=X

Nerkica angles
Ll andZ. Y N4/
22 and L5 6 [N
L3 and £ 6 / ~
il 5 pengte i

/-3 and £2 are ad\jacen\--
23 ond LY oave u@em&

Loy and L0 Gfe QdddCfn“t
Z)0 and L)\ Ore adyacexs

Identify complementary and supplementary angles and use them to write
A ; Q1-6 Page 411
and solve equations to find unknown angle measures

Give the measure of the angle that is complementary to the given angle.

Ot =90
5 1 2 3.
20°
90_Y45 =45 | . 90~06'= 70 Q0 —5Y4 = 364




Identify complementary and supplementary angles and use them to write

and solve equations to find unknown angle measures

Ql-6 Page 411

Give the measure of the angle that is supplementary to the given angle.
U+0=\3

4. 5.

128°

52°

—

180 — 128 =

6.
~_ 160°

190 — o225 |

50°

\86 — 50 = 130

Classify and draw triangles freehand, with tools, and with technology given

certain conditions, such as angle measures or side lengths

Q9-14 WCT-LXYPi

9. The figure shows the Oak Creek trail, which is
shaped like a triangle. Solve the equation
61 + 78 + x = 180 to find the value of x in the
figure. Then classify the triangle by its angles
and by its sides.

6' '\‘78-\- X = lgé.
\3q 4 lgd Oak Creek

Rocky Peak

10. The three towns of Ripon, Sparta, and
Walker form a triangle as shown. Solve the
equation 38 + 104 + x = 180 to find the value of
x in the triangle. Then classify the triangle by its

angles and by its sides. Ripon
384%4 x x =180 38>
T - G

142 4 2= |80 2

N
0

= = = 0 "ﬁ. 4 - S ﬁﬁauof4n X Walker
3 AC»\( -Ertcm%\é L5 ot ks
x Scolene -l:mm@?_ P 7 i verd | GH‘U\S& o= .
7o -
— K 1SoSceleS v




Classify and draw triangles freehand, with tools, and with technology given

certain conditions, such as angle measures or side lengths

Q9-14 RCT-EE YV

11. Reason Abstractly Without drawing the
triangle, how do you know a triangle with a 95°
angle, a 95° angle, and a 5-inch side is not

possible? 95 +95 = 190 £
The Sum (_sf fwo a;@fﬂ IS

 qealer i 180 A
_+the Sum. of__ d” ('J?}j}(J .‘Of __{1_1‘0«8]6
must be ex.]uaﬂ 186y

[

12. Find the value of x in the diagram. Then,
find the supplement of the missing angle.

-180-Yo

Suﬂolemer\ g

Classify and draw triangles freehand, with tools, and with technology given
certain conditions, such as angle measures or side lengths

Q9-14 ECT{EKYY]

13. Justify Conclusions Construct an argument

to explain why it is possible for a triangle to
contain three acute angles.

The Sum of interiar q@fej of
any triogh 13 180

we have Yhve acCube angle)

50, 60 , 30

with Sam sf 584 66475 = 18¢

14. Draw a triangle with one angle greater than
S90° and no congruent sides. Then classify the
triangle. \BGJ

Z\




Part (2)
10 main questions
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Use the Distributive Property to expand each expression.

Simplify algebraic expressions by identifying and combining li

Q9-14 EChEPLx]

ke terms

9. 2(-3
. Q.C-._BZ —1—5)
= _bZ - O

10. 6(-4x.+3y)
= 6(-Yx +'39)

= —247+18Y -

TN
11. (3y - 22)5
ey — 07

——

2(3)==—56




Simplify algebraic expressions by identifying and combining like terms

Use the Distributive Property to expand each expression.

Q9-14 ECHPLA]

AN

12. (-2x - 7)4
(—22-7) Y
= e BN D9

13. -7(x - 2)
=y

= =12+ 19

L] J ~
14. -3(8x - 4)

Use different methods to add linear expressions Q4-9 REEEpLE)

Add.

4. (-3x-9) + (4x + 8)
B Uy 5.8
= 3%+ 42) +(-94 8)
2=

—
—

5.(-5x+4) + (-9x - 3)

L i

6. (-2x+ 10) + (-8x -1)

. -.-21=\-1052—‘81-—\- -
2 (=ox_gale (16-1)
= s B GE.S




Use different methods to add linear expressions Q4-9 RUETEpLE]

Add.
7(—x—3)+(13—6x+5) 8(%x—3)+(%x+1) 9(4x+ )+(—3x—%)
“A 3x3 5
/5_’”_1_, }__"—/\4— -—2—»-5;\ lld___'l—y\ (9__—-. —5“\
L A A oV S 4
\Je ]é TR J LA T I ) T\ |2 j2-/
N> B X 2l o 4
= l%-—i—g L i QI =
\6 - 3

Write one-step equations involving integers and rational numbers and use
B S : SYAVY Page 287
inverse operations to solve the equations

Solve each equation. Check your solution. 2(5) +4 UeY)« |
A
d z 4 1
7.— = —6 X-9 8.15 =— 9. 985 = o
Loy ~8 t 5 4

T I —

Q.
(0
Q
R

C/‘f’/&’)‘b)\_-—‘-\-@/(—*))\ 2 —?9)6




Solve each equation. Check your solution.

inverse operations to solve the equations

Write one-step equations involving integers and rational numbers and use

Q7-12 mErEwhyy

12. —0.8n = 2.8

10. —6 = 23’ 11.-6=02b -=x5.2
. —6xo_0.2b
%’)( '\é -%Xg:fj o024 6.2 .
ceaﬂ 00 = B
— = 3 R Pt
\_ )O | 3 : Zt) B — 30 ....... =1 b b SRS
g = '—lD \ ‘b - O

Write two-step equations of the form px + g = r and use inverse operations

to solve the equations

Q5-7 Page 305

5. A hot air balloon is at an altitude of 100§yards.

The balloon’s altitude decreases by 10§yards every

minute. Determine the number of minutes it will take
the balloon to reach an altitude of 57 yards.
] e

6. The current temperature

e

expected to drop (1.5°F/each hour. Determine in
how many hours the temperature will be 36°F.

Ug

is 48°F. It is

15h

eCZk 43
100 = — 102 lm 57
S e Tl NN e B 2
e O)I0.8m= 570 . . ko
—1602. T L5 X0
/K 162 m = 438 = (-l0.8) N - \?_‘;’ -8
s m= —_qj;iw = :g ,L\,P%gr 2 Nouck e -&eu{semk(«r{
Y00, : o
'5?}.25 & im; Yy Wi wl e 361

5.2
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Q5-7 Page 305

7. Mariko and her friend spent $24.50 on lunch. Their lunches cost the same amount, and they
used a $4 off coupon. Determine the cost of each lunch. \ [_( 2‘3

Write two-step equations of the form px + g = r and use inverse operations
to solve the equations




